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Exercice 1

Compléter sans calculatrice :

◮1. 0,01 × 1,34 = . . . . . . . . . . . . . . . . . . . . . .

◮2. 10 000 × 0,327 = . . . . . . . . . . . . . . . . . .

◮3. 0,419 ÷ . . . . . . . . . . . . . . . . . = 0,004 19

◮4. 7,54 ÷ . . . . . . . . . . . . . . . . . . = 0,007 54

◮5. 46,8 ÷ . . . . . . . . . . . . . . . . . . = 0,004 68

◮6. 1 000 × . . . . . . . . . . . . . . . . . . . = 51 000

◮7. 0,000 1 × . . . . . . . . . . . . . . . = 0,001 53

◮8. . . . . . . . . . . . . . . . . . . . . . × 4,12 = 0,412

◮9. 10 × 8,62 = . . . . . . . . . . . . . . . . . . . . . . .

◮10. 0,001 × . . . . . . . . . . . . . . . . . = 0,003 13

◮11. 41,8 ÷ . . . . . . . . . . . . . . . . . . . . . . = 4,18

◮12. 100 × . . . . . . . . . . . . . . . . . . . . . . . = 46,2

Exercice 2

Compléter sans calculatrice :

◮1. 1 000 × 98,8 = . . . . . . . . . . . . . . . . . . . . .

◮2. 0,001 × 0,335 = . . . . . . . . . . . . . . . . . . .

◮3. 0,1 × 19,5 = . . . . . . . . . . . . . . . . . . . . . . .

◮4. 0,000 1 × . . . . . . . . . . . . . . . = 0,007 03

◮5. 25,6 ÷ 100 = . . . . . . . . . . . . . . . . . . . . . .

◮6. 0,01 × 0,116 = . . . . . . . . . . . . . . . . . . . .

◮7. 3,13 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

◮8. 100 × 87,9 = . . . . . . . . . . . . . . . . . . . . . .

◮9. 28 ÷ . . . . . . . . . . . . . . . . . . . . . . . . . = 2,8

◮10. 10 000 × 8,68 = . . . . . . . . . . . . . . . . . . .

◮11. . . . . . . . . . . . . . . . . . . . . . . . . × 90 = 900

◮12. 0,643 ÷ . . . . . . . . . . . . . . = 0,000 064 3

Exercice 3

Compléter sans calculatrice :

◮1. 0,001 × 0,594 = . . . . . . . . . . . . . . . . . . .

◮2. 100 × 0,413 = . . . . . . . . . . . . . . . . . . . . .

◮3. 10 000 × 18,6 = . . . . . . . . . . . . . . . . . . .

◮4. 0,01 × 13,7 = . . . . . . . . . . . . . . . . . . . . . .

◮5. 0,843 ÷ 1 000 = . . . . . . . . . . . . . . . . . . .

◮6. 1 000 × 7,92 = . . . . . . . . . . . . . . . . . . . . .

◮7. 35,7 ÷ 10 = . . . . . . . . . . . . . . . . . . . . . . .

◮8. . . . . . . . . . . . . . . . ÷ 10 000 = 0,000 484

◮9. 10 × . . . . . . . . . . . . . . . . . . . . . . . . = 6,35

◮10. . . . . . . . . . . . . . . . . . . . ÷ 100 = 0,003 01

◮11. 0,1 × . . . . . . . . . . . . . . . . . . . . . . = 0,907

◮12. 0,000 1 × 0,326 = . . . . . . . . . . . . . . . . . .

Exercice 4

Compléter sans calculatrice :

◮1. 0,01 × . . . . . . . . . . . . . . . . . . . . . = 0,009

◮2. 0,001 × 0,67 = . . . . . . . . . . . . . . . . . . . .

◮3. 10 × . . . . . . . . . . . . . . . . . . . . . . . . = 57,2

◮4. 1 000 × 0,273 = . . . . . . . . . . . . . . . . . . .

◮5. 77,6 ÷ . . . . . . . . . . . . . . . . . . . . . = 0,776

◮6. . . . . . . . . . . . . . . . . . . . . . . . × 5,88 = 588

◮7. 0,000 1 × 86,7 = . . . . . . . . . . . . . . . . . . .

◮8. 0,1 × 57,6 = . . . . . . . . . . . . . . . . . . . . . . .

◮9. . . . . . . . . . . . . . . . . . . . . . . . . ÷ 10 = 2,23

◮10. 0,695 ÷ 10 000 = . . . . . . . . . . . . . . . . . .

◮11. 10 000 × . . . . . . . . . . . . . . . . . = 205 000

◮12. 71,7 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . . .

Année 2022/2023 https://www.toupty.com/exercice-math-6eme-produit-quotient.html

https://www.toupty.com

	Les énoncés des exercices

